o
[N

< o cot(y) >

<0 @> (rad)
o
o [
[y [4)]

................

-0.15

o
;| o N T
q . nd

Ratio

1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_TT_base

—— DQM_mkFit_TT_base

100,

e~ HIMM: : 5 € : 5
~ BOETIIIT E' 3 ~ 8o 1 :
2 601 it (s i S' 60 i f
g I : 1 [ ) b I
v A0B (M ; il3 v 40f R

20F | bt . 20| AR

of H il 'u-ir 0 d ]

-20fH{- [t} d -20fftf i 1

=40k - I ~40f :

-60Ff 1| -60 :

-80Fr 1|t -80f
o_lOO:lllli‘llll!||||!|||||||||!|||| o_lOOullll!||||!||||i||||i||||i||||
P ol R B B O B U TS O 8 S S B /(RO 28 B B (S B | B EE B
‘x UL T o ELIE THEEN T I

T T R i
0 0 0

=3 -2 -1 0 1 2 3 -3 -2 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<opIp. > (o

PP, > (70)

O = N W N O
1

iy
TTTT[TTTTTT

23T 2 - 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


